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179 1)

Eivat

y = 4x* —5x +1X:3:t>_4y(t) =4(3t—4)° -5(3t—4)+1=
=y (t)=24(3t-4)-15=y'(t) =72t -111

Onote

@) y(1)=72-1-111=y'(1)= -39

B) y(2)=72-2-111=y'(2)=33

X=—4
v) Eivai X=3t-4=-4=3t-4=3t=0=1t=0
Omnodre

y'(0)=72-0-111=y'(0)=-111

Xx=5
0) Eivau x=3t-4=5=3t-4=3t=9=1t=3
Onote

y'(3)=72-3-111=y'(3) =105
179  2)

Eivan

y=x* +2X—lxi>t_4y(t)=(3t—4)2 +2(3t-4)-1=

=y(t)=9t" —24t+16+6t—8-1=y(t)=9t* —18t+ 7 = |y'(t) =18t 18

Ondte

@ y(1)=18-1-18=y'(1)=0

B) y'(4) =18-4-18 = y’(4) =54

X=—4
y) Etvau Xx=3t-4=-4=3t-4=3t=0=>1t=0

Ondte

y'(0)=18-0-18 =|y’(0) =18

X=2
0) Elvar x=3t-4=2=3t-4=3t=6=>1t=2

Omnorte

y'(2)=18-2-18=|y'(2) =18

179 3)

Etvou

X=2t-6

y=x'+x*=3x+9 = y(t)=(2t-6)’+(2t-6)" -3(2t-6)+9 =

=|y'(t)=6(2t-6)"+4(2t-6)-6




Omnorte

@) y(2)=6(2-2-6)° +4(2-2-6)-6=y'(2)=10

B) y'(0)=6(2-0-6)°+4(2-0-6)—6=y'(0)=186

X=—4
y) Eivar Xx=2t-6=>-4=2t-6=2t=2=1t=1

Onote

y'(1)=6(2-1-6)"+4(2-1-6)-6=|y'(1) =74

X=2
0) Eivou Xx=2t-6=2=2t-6=2t=8=1t=4

Onote

y'(4)=6(2-4-6)" +4(2-4-6)-6=|y'(4)=26

179 4)

Etvou

x=t?+t-1

y=4x5x+1 = y(t)=4(+t-1) -5(t+t-1)+1=

=|y'(t)=8(t* +t-1)(2t+1)-5(2t+1)

Onote

@ y'(3)=8(3"+3-1)(2:3+1)-5(2-3+1)=y'(3) =581

X=-1
B) Eivau x=t+t-1= A =’ +t4A >t +t=0=1t(t+1)=0=
=1t=0 7N t=-1 anopinteTon

Ondte

y'(0) :8(02 +0—1)(2.0+1)_5(2.0+1):> y'(0)=_13

x=5
) Etvor x=t?+t-1=5=t"+t-1=>t*+t-6=0=(t-2)(t+3)=0=
=t=2 M t=-3 anopinteral

Ondte

y'(2)=8(2°+2-1)(2-2+1)-5(2-2+1) = |y'(2) =175

x=1
8) Eivar x=t"+t-1=1=t?+t-1=t"+t-2=0=(t-1)(t+2)=0=
=t=17 t=-2 onopinteTton

Omnorte

y'(1)=8(1* +1-1)(2-1+1)-5(2-1+1) = |y'(1) =9




